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1. (a)

θ �

[
α

β

]
Y �
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Y1

Y2
...

YT
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X �
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1 X2
...
...
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e �


e1

e2
...

eT
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(b) 令 A � (XT X)有

A � (XT X) �
[

T
∑T

i�1 Xi∑T
i�1 Xi

∑T
i�1 X2

i

]
由 Gramer法则

A−1
�

A∗

|A| �

[ ∑T
i�1 X2

i −∑T
i�1 Xi

−∑T
i�1 Xi T

]
|A|

其中 |A| � T
∑T

i�1 X2
i − (∑T

i�1 Xi)2,从而得：

θ̂ �

[
α̂

β̂

]
� (XT X)−1XT Y

�
1
|A|

[ ∑T
i�1 X2

i −∑T
t�1 Xi

−∑T
t�1 Xi T
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1 · · · 1

X1 · · · XT

] 
Y1

Y2
...

YT
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T
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T
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T
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1
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(c)
E[Yt] � α + βE[Xt] E[XtYt] � αE[Xt] + βE[X2

t ]

从而有

β �
E[XtYt] − E[Xt]E[Yt]
E[X2

t ] − E[Xt]2
�

cov(Xt ,Yt)
varXt

进而有

α � E[Yt] − E[Xt]
cov(Xt ,Yt)

varXt

又

1
T

T∑
i�1

Xi
a.s .−→ EXt

1
T

T∑
i�1

Yi
a.s .−→ EYt

1
T

T∑
i�1

X2
i − ( 1

T

T∑
i�1

Xi)2
a.s .−→ varXt

( 1
T

T∑
j�1

X jYj) − ( 1
T

T∑
j�1

Yj)(
1
T

T∑
i�1

Xi)
a.s .−→ cov(Xt ,Yt)

所以

θ̂ �

[
α̂

β̂

]
a.s .−→

[
α

β

]
� θ

2. (a)

Y �


X1

X2
...

XT


�


ϕ1X0 + ϕ2X1−2 + · · · + ϕpX1−p

ϕ1X1 + ϕ2X0 + · · · + ϕpX2−p
...

ϕ1XT−1 + ϕ2XT−2 + · · · + ϕpXT−p


+


ε1

ε2
...

εT


�


X0 · · · X1−p

X1 · · · X2−p
...

. . .
...

XT−1 · · · XT−p



ϕ1

ϕ2
...

ϕp


+


ε1

ε2
...

εT


� Xϕ + ε
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(b)

1
T

XT X �
1
T


X0 · · · XT−1

X1−2 · · · XT−2
...

. . .
...

X1−p · · · XT−p




X0 · · · X1−p

X1 · · · X2−p
...

. . .
...

XT−1 · · · XT−p
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�

1
T



∑T
t�1 X2

t−1 · · · ∑T
t�1(Xt−1Xt−p)∑T

t�1(Xt−2Xt−1) · · · ∑T
t�1(Xt−2Xt−p))

...
. . .

...∑T
t�1(Xt−pXt−1)) · · · ∑T

t�1 X2
t−p
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因为

1
T

T∑
t�1

Xt Xt−k
a.s .−→ σ(k)

所以

1
T

XT X
a.s .−→


σ2(0) · · · σ2(p − 1)
σ2(1) · · · σ2(p − 2)
...

. . .
...

σ2(p − 1) · · · σ2(0)


(c) OLS估计量为

ϕ̂ � (XT X)−1XT Y

有

XT Y �


X0 · · · XT−1

X1−2 · · · XT−2
...

. . .
...

X1−p · · · XT−p




X1

X2
...

XT


�



∑T
t�1 Xt−1Xt∑T
t�1 Xt−2Xt
...∑T

t�1 Xt−pXt


a.s .−→ T


σ2(1)
σ2(2)
...

σ2(p)


综合 (b)结论

( 1
T

XT X)−1( 1
T

XT Y ) a.s .−→


σ2(0) · · · σ2(p − 1)
σ2(1) · · · σ2(p − 2)
...

. . .
...

σ2(p − 1) · · · σ2(0)



−1 
σ2(1)
σ2(2)
...

σ2(p)


�


ϕ1

ϕ2
...

ϕp


即

ϕ̂ � (XT X)−1XT Y
a.s .−→ ϕ

ϕ的 OLS估计与 Yule-Walker估计量一致
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